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(For the candidates admitted from 2012—2013 onwards)

B.Com. DEGREE EXAMINATION,
NOVEMBER 2017.

Fifth Semester
INCOME TAX LAW AND PRACTICE — I
Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

Answer ALL questions.

1.  Define the term assessee.
aulfl Qegusgiuieu euanywim.

2.  What is previous year?
PHEOSUI 60T (H GTETDITC 6TE6T?
3. When a company is resident?
B er@Qumpg Ggwflew QupPETELL?
4.  Give basic conditions of residential status.
Gul Ly Hleneouden g liLienL ELBS®STEL &(Hs.

5.  Write a note on pension.
gugpdlwib updl GHILY YIS



10.

;B

- What do you mean by provident fund?

GCeope Hl8) eramig) wirg)?

Define annual value.
<peT(H SILIL| GuUEDTLIm).

Give a note on unrealized rent.
BLesliuLTg eurans UHMl GHILIL §Hs.

Define the term profession.

‘Qgmfler’ eremiang euenFwim.

Mention any two expenses are allowed under
section 37.

Afley 37-ar S1p Si@LHEFILLL QE0a|s6T GramamL

(GO,

PART B — (5 x 5 = 25 marks)

Answer ALL questions.

(a) Write a note on :

(b)

(1) Income

(i) Assessment year.

GO eT(pgI5.

@)  eugpTEID _

(1) eufleliy par(.
Or

Who is a person? Explain.
BT eramuieu wmt? efleul.
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12.

13.

(a)

(b)

(a)

Briefly explain the scope of total income.

Args  eumLIASIE TOMOML  HHESLOTE

aSleur.

Or

Mr. K, an Indian citizen leaves India for the
first time on 31st May 2012 and comes back
on 15t May 2015. He again leaves India on
10th June 2016 to come back on 14th January
2017. He 1is living in India since then.

Determine his status for the previous year
2016-17.

8. K eremm Qpdlu @lgosen e sLameiwins
31 G 2012-é @pdlurenas eI H QeuelGuir
Gogib 15 -G 2015-6 SH@mwydpn. wmLigubd
<leut 10 grar 2016-& @pdHunemer &H(
CeuafiCGwdl 14 memeufl  2017-&0 @pdHwr
Sy, g E Per sjeur @bdwredGaGw
audlaflont.  ppeosw e mar  2016-17-6
SleumenLw Flaneveni senréa (.

Mr. Y is employed at Amritsar on a salary of
Rs. 3,000 p.m. The employer is paying HRA
of Rs. 350 p.m. but the actual rent paid by
him (employee) is Rs. 500 p.m. He is also
getting 2% commission on turnover achieved
by him and turnover is Rs. 1,50,000.

Calculate his gross salary.
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(b)

Hm. Y eemmeut wmgd . 3,000 gLOUIETHS 0
<AL sfle ualumppdo. wrsb ep. 350 656
QUTLans LigWng (pgenen Qeauggdpm. pemmed
o GrenowiTan eurLens s . 500-g el
(QsmPlerafl) Qegussifimm. Dieurmed Claiu L
Apueer 8 2% siflurs QuoEprT HMID
puener i ep. 1,50,000 2 @Lo.

SiaumeL L Qrss sbueTEmS Seés (.
Or

Mr. Lalu retired on 30-11-16 from a coal
mine after putting a service of 28 years and
10 months. At the time of retirement he was
getting salary of Rs. 16,000 p.m. and he use
to get an increment of Rs. 500 p.m. on
1st April every year. His D.A. was Rs. 2,000
p.m. Gratuity received Rs. 3,40,000. Find out
his taxable gratuity, if he is covered under
Gratuity Act, 1972. j

Hm  org Hassll smhssda 28 el
10 wrgmser Laflumd 30.11.16 oem @uey
Quudpri. et Ll @uie) Quoib sTsED
Wor&Ld e, 16,000 gibuiemd Qupidlprr. Gogitd jeur
gaQaunm ewm@nd 1 gurelled D
em. 500 sbuer o witeus Quudlpmi. HeuHenL LI
LgeLIg. LTESSNE e, 2,000 G Lanflsbanan.
Qubmg 5. 3,40,000. LieflE@smeL sL1b 19726
8p weu 2l UPsgID Qurips Seufler auféE
o UL ua&Qareanw sl (®H.
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I (o)

(b)

Calculate the Gross Annual Value from the
particulars given below :

Actual Rent Rs. 7,000 p.m.

FRV Rs. 66,000

MRV Rs. 60,000

Standard rent Rs. 69,000

During previous year 2015-16 assessee could
not realize rent for two months.

Gemaumid eleuseer Qaman(® Qmss ayam()
wlliemu sersd ().

2_GRTENLOWITET UL 60 Lrsid eh. 7,000

B&yTL &l eurens iy ep. 60,000

Blwmuiorer eum_ana wHLiL ep. 66,000

Bleneuwimer um_ens ep. 69,000

oz gar® 2015-16- el CegusgiLieurmed
Qrem(® resShsemear cur_ams QU (piq Leddeaa.

Or

MRV of the residential house is Rs. 24,000
and actual rent is Rs. 2,500 p.m. During the
previous year 2016-17 house was vacant for
two months. The Municipal Taxes are @ 10%
of MRV. During the year owner paid
Rs. 30,000 as arrears of Municipal Taxes.
Interest on loan taken for the construction of
house payable to his employer is Rs. 16,000.
Compute income from house property.
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@0 GWimuy efliger parTé eurLens LY
¢h. 24,000 wHYID 2 @TELWITET QUL S LIFLD
. 2,500 @b, phosw e rer 2016-17-6
Qrar® wrsb &IH sreluns o drars. BEITL&
aurLes gllide pegm 8 cufl 10% <y @n. Qbs
D},ERTIg 60 o flenwowimert €. 30,000-g
Bleyemeuiigierar pagr & euflavw Ceausg .
ai® sl(Peuspars ermdu  sLar  Bsmer
alge@w Seumerw 2 fepwwmrerti . 16,000
aan  Oegusgdlpri. eI Qengg BSsrer
QUBHLTATEMNS SarTsE (5.

15. (a) Profit and Loss account of Mr. Senthil is as

follows :
Particulars Rs. Particulars Rs.
To Salaries 50,000 By Gross profit  2,00,000
To Income tax - 9,000 By Dividend 20,000
To Entertainment exp 20,000
To Net Profit 1,41,000

2,20,000 2,20,000

Saiary includes Mr. Senthil’s salary of
Rs. 30,000. Compute income from business.

gm. Qandled eremueuflar @emru BLL saé®E

leeu(mLommy ;
efleupmigar 1. el eupmiger €.
&LDLIGTLD 50,000 (.]Lorrg,;_s eomuw  2,00,000
aumLomeT il 9,000 ukisTHTWLD 20,000
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&Sl eumhigeT €. o GuTmBISET €.
QumpgGursg Geway 20,000 j
& eruLD 1,41,000
2,20,000 2,20,000

gbuetsded, S Qepdl@enLw  gbLeTid
. 30,000 Gepgiarerg). euanfls eumwIaGmS
sasHhHe.
Or

(b) A ‘block assets’ consists of 5 machines.
W.D.V. of all machines as on 1.4.2016 is
Rs. 1,80,000. Rate of depreciation is 15%. A
new machine costing Rs. 1,60,000 was
acquired in March 2016 but actually into use
only on 10.10.2016. Two old machines are
sold for Rs. 3,20,000 in December 2016.
Determine the amount of depreciation for
the assessment year 2017-18. -
‘Q&rrggjé;asefﬂain Guwd 5  Qupdrhismar
2 66L&l |eTensg. 1.4.2016-e0 DTS
Quipdriiseflar Gapbes Gge wHiL ep. 1,80,000
2AGw. Cswwrar 15% @b, ydu Quibdrd
. 1,60,000-6@ wrrg 2016-60 eummislil L g)
eamed  2areowrs  10.10.2016-60 =g
vweu(ssiul Lg. gsbur  2016-60  uepw
Quean®  @Qupdymsmear . 3,20,000-&@
ellhsliL L gj.
afledfiy yeam® 2017-18-ssmen Gguiwmer
Qsrensamw samES (0.
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16.

17.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions. '

State the features of income.

m@mrraﬁg'séléin At Qwerysaer efleurl.

Which of the following incomes are taxable when
residential status of Mr. Umesh is :

(a) Resident

(b) Not Ordinarily Resident

() Non-Resident

() Income accrued in Canada but received

in India Rs. 2,000.

(i) Rs. 5,000 were earned in Africa and
received there but brought to India.

(iii) Rs. 5,000 earned in India but received
in Canada.

(iv) Rs. 10,000 earned and received in
Srilanka from a business controlled
from India. :

(v) House property income (computed)
from Srilanka Rs. 2,000.

(vij Rs. 4,000 was past untaxed income
which was brought to India during the
previous year.

(vi) Profit earned from a business in
Kanpur Rs. 10,000.
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Hm. 2Cweflar  Guufleow  Hleneoulen Qumws
YemaumLd eupomearisafle euflsE e UL eg?

(=) smamyen Gguflenn Quppeur
(<) srsmrenT Gl fleno QupTSeuT
(©®) Guflan duprgerrs g mpbsTe
1) seLmele Cup Ceuariqus  GUHLOTEILD
@pdwreiler Aummag em. 2,000
1) g uhfssmelle FFL g U GU(THLDTETLD.
. 5000-m omGsCu  GWupul®
@QidureineE Qamem(® eupiulL g
(i) em. 5000 @bHwreled FLigul GUHLOTGID
serefler QUL g
iv) Qememsuid Fligug WLHHID Qurj)@
auonad . 10,000 <yame Ggmbleden
sL_(Hur® @bdurele o crerg)
V) Qenmsd Qupp efi® Gsrsg Bsrer
au(mLomand (sarrsdlLiulLg)) ¢. 2,000
(i) posu ey paTear auflsE o L LHESTS
amwrad e 4,000 QpdHurelns
Qameir(h eurLLLg).

(vil) amenyfled 2 erer Qgmfledled FFliqw Gamuid
ep. 10,000.
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18.

Mr. M is a production manager of an industrial
unit at Chennai. The particulars of his salary
income are as under :

Basic Salary Rs. 15,000 p.m
Dearness Allowance (given under :
the terms of employment) Rs.5,000 p.m
Entertainment allowance Rs.1,000 p.m
Medical allowance Rs. 500 p.m
House Rent allowance Rs.4,000 p.m
Rent paid for the house Rs. 5,000 p.m

Car of 1.2 It. capacity provided by employer for
private and official use.

Employer meets expenses of car.

He and his employer (each) contribute 15% of
salary to R.P.F. '

Mr. M had taken interest free loan of Rs. 15,000 to
purchase refrigerator.

Compute income under the head salary for the
assessment year 2017-18.

A M eramueuir Qeananamne @ Qsmpsraeude
2 pusdl Cuemeryns 2 eTenmi. QB sbLET
aumLorend updlu efleughisar W emeumLomn :

SlgUILIGL FIDLIGTLD LOTGLD . 15,000
uEpeLly (Qgmfled DDTSFI 560

dlfpapuiler & AsrBssiiu L g) wighd . 5,000
QurpgiCuns@Liy rEb em. 1,000
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19

(MmSSIeU Lilg. LOTSLD . 500

&S GuUML6na Lilg LOTSLD . 4,000

ol (H&E QegisSu eumLes gD . 5,000
g 1.2 L Qarererere) Qameanm._g Cembs LDQ.)@L'{)
SNICIDS UweTurLig M@ o Menwimenymed
sjeflssliulLgl.

snHEsTE Qswa|smer o MawmrarGry Qewidpm.
SieuT  bHmL  Seumerw e flawwmer (esLb)
gbuesHéd 15%-g msslssiulL GCaope HE&@E
unigei &S eme.

@aflrengen Quiig emas ep. 15,000-g3 cul_ig udlevem
sLams & . M Qupm demer.

aufleflSliiy <}, &0r () 2017-18-samen glbuer
QUBHLITATSNS SETES (.

Mr. B owns a house property at Cochin. It consists
of 3 independent units and information about the
property is given below :

Unit 1 : Own residence

Unit 2 - Let out

Unit 3 : Own business

Rs.
MRV 1,20,000 p.a
FRV 1,32,000 p.a
Standard rent 1,08,000 p.a
11 S.No. 1012



Rs.
Rent ; 3,500 p.m
Unrealized rent for three months
Repairs 10,000
Insurance 2,000

Interest on money borrowed for
purchase of property 96,000
Municipal taxes _ 14,400

Date of completion 1.11.2010

Compute income from house property.

8. B Gsmsflafler Qemps of e amauggieart. @g) 3
geflulL DVGESEDET 2 eTaTL &élu|aTerg. Gogib 2B
Garss updlw edeurisdr EGy AsrR&si’Harers,.

sl Qembg Gryulmly
ADVG 2 UTLsEE

So@g 3 dembg Asmfle

€.
BaTTLS eurL_ans Wi 2T (H&E 1,20,000
Blwmu eum_ens wHliy am(Hiés 1,32,000
Blepeowiner eurm_ena <6 (HEE 1,08,000
UTL & LSSH D@ 3,500
UGIGELILL TS QUTL D& 3 LTS HEIGET
U(pgILImTLLY 10,000
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¢H.

&S 2,000
Qerég) eunhis eummidlu sLer Bsrareuly 96,000
parml&l eurl | 14,400
WPlg&85 QU HreT 1.11.2010

e Qsmég) Bemen aumrasms saméd (.

20. From the following P and L account, calculate
income from business.
Rs. Rs.
To Office Salaries 6,500 By Gross profit 36,750

To Bad debts written

By Commission 1,250

off 1,700 By Discounts gain 500
To Advertisement 3,000 By Sundry receipts 200
To Provision for bad By Rent of

debts 3,800 Building 3,600
To Fire insurance premium By Profit on sale

(House Property) 550 ofinvestments ~ 3,000
To General expenses 2,750
To Depreciation 1,200
To Interest on capital 2,000
To Interest on bank loan (due) 1,300
To Net profit 22,500

45,300 45,300

Compute the taxable profits from business. The
amount of depreciation is Rs, 1,000. Interest on
Bank loan was paid on 1-8-2017. Due date of filing
of return is 31-7-2017.
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deeumd Qeru BLL samsms Qarewr(®, euamflaid

BsTan oupLTaISms Sauss (.
‘ . .

SADIGUDE FLDLIATLD 6,500 Gorsg eruib 36,750
QUITESL 6 Gurré;@asq.gé]mg 1,700 sey 1,250
eflambuimid ; 3,000 seT@pLIg. LsTWID 500
QUTTESL G PEIHES 3,800 @syQumss6T 200
66050 weenold sLligL b Bgmer eurens 3,600
(e (B Qemsg) 550 wseS® elnuamer Bgy
Qurg Qgeveysar 2,750 Qeruid 3,000
CsWiored 1,200
@& 185 Ll 2,000
aunidl sLam Bg) ey (Blgueneu) 1,300
Blar eomuid 22,500

M 45,300

auenflagdlen IG)JIﬂéS@ eLulL Qerugms sarés().
Coiiwmar Ggmans en. 1,000. eutid sLen Bsmer el lg
1.8.2017-ev OequgsiiulLg. eufl STESQISETET

seuenent mrer 31.7.2017.
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